
1Hz square wave – FPM ‘heartbeat’

50% duty 
cycle

25% 
positive

duty 
cycle

75% 
positive 

duty 
cycle

1000 ms 1000 ms

500 ms 500 ms

750 ms250 ms

250 ms750 ms

Normal FPM 
heartbeat

“No control signal 
from ECM”

“Fuel pump 
inoperative”

NB above waveforms depict a perfect square wave. In practice, the scope display may show rounded corners, etc.  It is the vertical 
transition timings that are important



150Hz square wave – ECM control signal to FPM 
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Above waveforms depict a perfect square wave. In practice, the scope display may show rounded corners, etc.  It is the vertical transition 
timings that are important
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This is a control signal, so may be 5 volts logic level rather than 12.
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